(x+2)? = (x—1)(x+2) & Aot 7rks] YepH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




D)2x +2y -3z @ 2x-2y-3z ® 2x-4y+ 3z

@ 2x+3y-2z ® 2x+2y+3z

~&B

(x+y) =A = std

A(A - 3z) - 4z2% = A? - 3Az — 47?
=(A-4z)(A+2)
=(x+y-42)(x+y+2)

L(x+y-4)+(x+y+2)=2x+2y-3z




(3x=2)* = (2x+3)* = (Ax+1) (x + B) 4 W, A + B ©] g& 73}
ofzt.

> E.

[> ®MEt: A+ B=0

B

3x-2=X, 2x+3=YE A&7
(3x-2)% - (2x + 3)?
=X*-7=(X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

. A4+ B=00|t}.




ARZF

=

Q@] Wol7t (a+b)(a+b+1)-30 011, 7F2 2] ZO|7} (a+b-5)
o, o] Az 2] A= o] Zolg FolH?

me, 1N

® a+b+2 @ a-b+6 ®at+b-6
@a+b+6 ® a-b+5
a+b=Azct5H

AA+1)-30=A2+A-30

=(A+6)(A-5)

=(a+b+6)(at+b-5)
w2tA] A 22] Aol a+ b+ 6 ©|th




| 2
> = 12

(x+3)° = (x =) + dxy
=42 + 4% (-1)
=16-4
=12




= y
A, a-pof F2?

@ 3

x2_ax+3:0 x2+2x b:0°ﬂ
x=1SdYdstHa=4, b=3
ca-b=4-3=1




NP N ax® +bx+4 =09 F 2
o] 2k& ool

> E.

> ™E: -3

ax> +bx+4=02 3t 2o kO|B2 ak® + bk +4=0,
ak?® + bk = -4 °o]|B 2

ak®> +bk+1=-4+1=-3




OIZPIAAl x2 —gx+2=09 F 2ol x=-1FE=x=pd T, a+b

o gre?

2—ax+2=09 F Zo] -1, bo|ER
Fax=-1dU}IH1+a+2=0.. a=-3
0= -3 F0 R o) YIYSHA 2 + x4 2= 0
(x+1)(x+2)=0,x=-1F=x=-2

TebA ThE G 28 b — 20182 at b= —50Ic




WA F 522 24 P AL BE 1299
@xZ—l—O @ x*=12x-36
3
®)2(x+4)* =38 @x2=6(x—§)
® 1-=x>=2(x+2)
Ox-1=0°4 (x-1)(x+1) =0

Lx=1FEEx=-1

®@2(x+4)?2=8NA x2 +8x+12=0, (x+2)(x+6) =0
Lx=-2FEx=-6




OJAFY A 12 —2(x+A) -5 =00 x=BE T2 7}

A, B ol ti5to] AB 9] 7HS FLsloizt.
=

>
[> ®Eeh. AB= -3

~&B

X -2x—-24-5=00] FZLE VA B2

_ 2
—2A—5:(—2> =1

2
S A=-3
Z, 2 -2x+1=0°]B2 (x-1)2=0,x=1
T A=-3, B=1

I3 B2 AB = -3°|t}.




11, 49x% -9+ 1wy + y* & U525 AEY (ax + y 4 b)(ax + cy + 3)
7F =3}, oldl, &4 a, b, ¢ o W5kl a - b+ ¢ O gL& F5HA?

@ 2 @ 4 ® 6 @11 ® 16

B ,

49x2 + 14xy +y* -9 = (Tx +y)? - 32
=(Tx+y+3)(Tx+y-3)

a=T7,b=-3,c=1

La—-b+c=11




12, A4 2190 —1 2 30 7 40 Ato] o] F AAo]| ofste] wrolEolzl
th. o] F Zd4-] g2 Fstejzt,

>

> =g 64

~&B

9160 _ 1

= (2% +1)2° +DE* +1)(2" + 1)(2° +1)(2° - 1)

2160 — 1 & o] Hojx]A| SH= 4= F 30 3 40 Ato] 9] =
2°+1=3332°-1=310|t

. 33+31=64




1

T 3+22

A o], a? + 3ab + b* 9] S 3t et.

a? + 3ab + b?
=(a+b)*+ab

1 1

:( 1 1

—+ X
3-2v2" 3+242

'

3—2\/§+3+2\/§
(3+2x/§+3—2«/§
(3-2v2)(3+2V2)
6 \2 1
() o

3

9-8

2
) +(3-2«/§)(3+2«/§)

6+1=37




14. a=V3+2< 1, 3(a+2)?2-2a+2) -89 72?

@D 41-22+3 @ 22+41V3 B 22-413
@ 223 -41 @41+22\/§

B

a+2=1 2 A&
3a+2)?2-2(a+2)-8

=32 -2t-8

= (t-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+10)
= (V3+2)(3V3+16)

=41+22V3




@ x2-2x-1

@ x>+x-1

® x2-x49

@ x®2-x+3

—A2-8A-9

(A-6)(A-2)—-21 =A2-8A +12-21

(x2—x—9) (x2—x—|—1)

= (A-9)(A+1)




